
JK HD Hinged Carrier Accessory 

Mount Part #4838200 

Important Notes: 

Prior to beginning this or any installation read these instructions to familiarize your-
self with the required steps and evaluate if you are experienced and capable to 
personally perform these modifications.  

Refer to the parts list to ensure that all necessary components and hardware have 
been included. If any parts are missing please contact your local retailer for assis-
tance. 

When a HI-Lift jack is installed onto the accessory mount, the jack MUST be in its 
lowest position to avoid damage to the right tail light lens when the tailgate is fully 
opened 

Kit Contents 

Item ID Item Name Quantity 

838210 Accessory Mount 1 

838201 Aluminum Spacer 1 

123 3/8” Lock Washer 2 

33 3/8” x 2” Bolt 1 

35 1/2” Lock Washer 3 

4251 3/8” x 1.5” Bolt 1 

84 3/8” Flat Washer 3 

85 3/8 Nut, Flanged Serrated 1 

5861 1/2” x 1” Button Head Bolt 3 

Tools needed: 
 Ratchet
 5/16” Allen Socket
 9/16” Combination Wrench
 9/16” Shallow Socket

http://www.carid.com/teraflex/
http://www.carid.com/spare-tire-covers-carriers.html


Accessory Mount Installation: 

1. Fasten the Accessory Mount to the Teraflex HD
Hinged Carrier  by threading the 1/2” x 1” button
head bolts with lock washers through the mount and
into the carrier.  Use the holes shown:

Hi-Lift Jack Installation: 

1. Place the Jack on the Accessory Mount pedestal.

2. Insert and hold the supplied aluminum spacer

between the lowest hole on the jack handle and the

threaded bung in the Accessory Mount.  Thread the

supplied 3/8” x 2” bolt with washer through the jack

handle and spacer, and into the threaded bung.  Do

not tighten yet.

3. Insert the supplied 3/8” bolt with washer
through the bottom side of the slot in the
Accessory Mount pedestal and upward
through the rear-most hole in the foot of the
jack.  Thread the supplied 3/8 serrated nut with
lock washer onto the bolt.

4. Tighten the bolt that secures the jack handle to
the mount.  Tighten the nut and bolt in the foot
of the jack.

Installation is complete 



Rotopax Installation: 

If use of a rotopax is desired without a jack, 
proceed as follows: 

1. Install the mount purchased from Rotopax onto the

4-hole pattern shown below:

2. A 2-gallon Rotopax gas container can be carried on

this mount.

Note:  The Hi-Lift jack handle Rotopax mount, Part 
#4838230, can be used to install both a Hi-Lift jack 
and a Rotopax container on the Teraflex HD Hinged 
Carrier Accessory Mount. 




